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Assignment

Write the standard form of the equation of each line.

1)  

  

y = 

  

−

  

x + 4
A)  

   

x − 4

  

y = 3
B)  

 

3

  

x − 

  

y = −4
C)  

 

3

  

x − 4

  

y = −1
D)  

   

x + 

  

y = 4

2)  

  

y = 

   

−
1
4

  

x + 4

A)  

   

x + 4

  

y = 12
B)  

   

x + 4

  

y = −12
C)  

   

x − 4

  

y = 12
D)  

   

x + 4

  

y = 16

-1-



©M p2u0y102y oKyu5tLaF vSjoHfAtsw1atrHeD 5L0LSCI.2 k yAClclp NreiEgyhUtFs8 or2eHsReYrSv7ewdm.t g CMzaodCeY kwJi0toho sI snpfwihnHiItMe9 kAWlHgie4btrgaC k1g.h Worksheet by Kuta Software LLC

3)  

  

y = 

  

6

  

x + 6
A)  

   

x − 6

  

y = 5 B)  

   

x − 6

  

y = −5
C)  

 

6

  

x − 

  

y = −6 D)  

   

x + 6

  

y = 5

4)  

  

y = 

   

5
3

  

x − 6

A)  

 

5

  

x − 3

  

y = 18
B)  

   

x + 3

  

y = 9
C)  

 

2

  

x + 3

  

y = −9
D)  

 

5

  

x − 3

  

y = −3

-2-



©g v2W0Z182h JKmustraf hSaoOfVtWwGaUrbeB 8LtLgCz.u i yAhl3lj Frfimg7hdtBsY 8rTeDsDesr7vdeLdK.P z pMMaRdIev dwPiVtVh0 WI gn6fXiKnki9txen RAdlWgSevborRaB W10.X Worksheet by Kuta Software LLC

5)  

  

y = 6
6)  

  

y = 

   

5
2

  

x + 1

7)  

  

y = −4 8)  

  

x = −4

-3-



©3 E2R0b1e2l HKVuMt3at LSyoxfptjwVaUr5eC qLhLVC8.w C iAWlXlP urmiYgghXtYsn LrWe5s7e1rvvzesdu.t 9 ZMJazdae4 rwTiltvht wI rnzfNi2n5iPtheb sAxlqg9eubKrIaV V1o.5 Worksheet by Kuta Software LLC

9)  

  

y = 

    

x + 3 10)  

  

y = 

  

8

  

x + 4

11)  

  

y = 

  

−

  

x + 1 12)  

  

y = 

    

x + 1

-4-



©0 X280Q1A2Y 6Kwuftoar WScozfZtmwfavrKer WLlL8Ce.5 z XAplAlH crRiXgqhWtEs4 JrteNsQelrOv7eXdX.T 6 ZMBahdMee SwbiMtehW WIGnXfOiSnYiBtVeo lAvl9gNe6birsa0 11Z.H Worksheet by Kuta Software LLC

13)  

  

y = 

  

−7

  

x + 6
14)  

  

y = 

   

−
1
3

  

x − 2

15)  

  

y = 

  

8

  

x − 4
16)  

  

y = 

   

−
1
3

  

x + 3

-5-



©7 c2T071j2b zK9uktEaP uSLoTfrtzw4aArrez OLtLqCO.j P wAaljlX Zroi5gohQtwsa RrUeRsTe3rUveeUdO.Z g AMvaKd7et qwPiRtThX 9I CnmfziFnvirtueZ VA1lkgketbkrNaM s1e.X Worksheet by Kuta Software LLC

17)  

  

y = 

   

3
5

  

x − 4 18)  

  

y = 

   

−
1
5

  

x − 2

19)  

  

y = 

   

x
20)  

   

y + 1 = 

  

3
2

(

   

x − 2)

-6-



©z 82j0B1A2z 1KRuJtha3 AS6oGfdtNwea0rTeU NLGLuCY.P 3 dAclZl7 XrciEglhjtjsK 7rZemsaeBrXvQeAdr.P Z rMOamdBep RwwiZtth2 iI HnkfRiLnjiKtyej CAilcgNeJbgreaU s1z.C Worksheet by Kuta Software LLC

21)  

  

y = 

  

−
5
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25)  

   

y − 2 = 

 

−3(

   

x + 2) 26)  0 = 

  

x

27)  
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Answers to Assignment (ID: 1)

1)  D 2)  D 3)  C 4)  A
5)  

  

y = 6 6)  
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y = −2 7)  

  

y = −4 8)  

  

x = −4
9)  

   

x − 

  

y = −3 10)  
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y = −4 11)  
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y = 1 12)  
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y = −1
13)  

 

7

  

x + 

  

y = 6 14)  

   

x + 3
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y = 8
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y = 15 22)  

   

x + 

  

y = −2 23)  
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y = 2
25)  
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y = −4 26)  

  

x = 0 27)  
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y = −5


